0 oto] are BAE LAY R v HL AL?
the RO sABC £4C = 90° 9 HZH47golt. ol
‘metmets ge) ol o[ [+ [ =[ [ st a"a

D a,b,c @ a,c,b ® b,c,a @ c,b,a

® c,a,b




Al e dol7t (x +3)em , (x—1)em , (x—5)cem §

2.

x 9] FH2?

A
.

Z14go] 5|

® 18 3 19 @ 20 3B 21

@D 17






Cm2



LEZ JYa} Zol
£A=90"2 HZ4zty
ABCoA AD LBCY
AD ¢] Zo|= 13} Q.
Ct

- 215 em



189 AR ABCD o4 PA = 4,PC = 6 2w}, PB*+PD°
sholat,

O
=1
9 gre 7

=

6.

® 50 A 52 @ 54 B 56

D 48



o8 g3t Zo] Wolrt 60cm2 Ql o] S HAZr A
3 ABC 9|4 BC = 10cm ¥ uj, AB 9] Zdo]&
ot et

“~10cm- -~

Qe o



& Fofedel.

g

oA x,y €] gkel




iy
o
€3]
A
m
<
mmo
N
~3

g
(]
0
Il
S
™
o
3]
g
()
e}
e}
—
_
N
o
s

=
=4

iy

ml

=9

OABDE 9]

o]
=

ol
m_.oao
L

<H

[
—_—
N
o7
Jari
[m]
oW

=
1

o, oFGHC 2] ]

@ 4cm? ® 5cm?

® 3cm?

®B 7cm?

@® 6cm?



rr
>,
X
ofl
>
us]
Q
)

10. t©h57} o] ACLBD & wHEah
o] A=aic},

otell S0l Ao /b 48P Ae nEW?
A
5

B g D
C

® AB°+BC =CD  +AD’
@ AB°+AD =BC +CD’
® AB -CD  =BC - AD’
@ AB’-CD =BC +AD’

G AB> 4L CD’ = BC: L AD?



11. o3 393 22 A2 ABC oA 24 HE A 502 of=

5 P,Q.RE 18 1, A 9] Wol o] g9

@ 64rcm? @ 70mcm? ® 8lmcm?

@ 100mcm? B 121mcm?



12.

¢ 192 AB =BC 1 4
3] o2 FF & H Ao
7L BC © %4 D o A7)
e % 2o e

® /AEF =90°

@ AAEF = ADEF
® AE =EC
@ AF = AE

® /A # /C

|
o

rIO olt

N
o)
ol
rE

-

PR
o

o o

v

> I

o SR




B™~~gem---- C

cm



14. & J=3} Zro] ZAFZFE ABCD oA &

A D
TAA B,D oA 4 WS I, AABQ /
o] Yol 2 Lsfolat, 601’11 R

l\ P

B ---8em---""C

E_ .
g om?






